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Mathematica TSR DOIEAKREEZ R 2
Glx_, t_] := Exp[-x"2/(4 t)]1/(2*Sqrt[Pi*t])

g=Plot[Table[G[x,t], {t, 0.1, 1.0, 0.1}], {x, -5, 5}, PlotRange->All]
Manipulate[Plot[G[x, t], {x, -5, 5}, PlotRange->{0, 3}], {t, 0.01, 2, 0.01}]

M 1. BHEROEARMR G(-,t) (t=0.1,0.2,...,1.0)
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gnuplot T7 =X =Y a Y%FoThALD, £F

anim.gp

plot [-10:10] [0:1] G(x,t)
t=t+dt
if (t<Tmax) reread

DES57%7 74 “anim.gp” ZHEL THBWT (Visual Studio Code % Atom D &k 572
TEFRAD - L7 4 X—TIEZERW). gnuplot T

fgnuplot> G(x,t)=exp(-x*x/(4%t))/sqrt (4*pixt) )
gnuplot> t=0.1
gnuplot> Tmax=5
gnuplot> dt=0.01
gnuplot> load "anim.gp"

(7=X—>a>GIF 21E3)

gnuplot> set term gif animate delay 10
gnuplot> set output "heatkernel.gif"
gnuplot> load "anim.gp"
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G Ba R E R T —G(x t) = 8— G(x,t).
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:ILTO G(x, t) = d(x).
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G(x,t) = %G(X, t), G(x,0)=4d(x).
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